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Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
answer sheet. Selecting more than one answer for
a question, even if one of the selected answers is
correct, would result in its being treated as an
incorrect answer.
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i) Each correct answer will carry 2 marks.
ii) Wrong answers will carry negative marks of
-0.5 each.

iii) Questions not attempted will carry no mark.
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This booklet has three sections:

Part A — Language Proficiency —20 Questions
Part B —-Teaching Aptitude — 30 Questions
Part C —Reasoning Ability —30 Questions
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booklet
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PART - A
Language Proficiency
(Expected Answering Time: 20 Minutes)

Direction: (Question No. 1-5)
Read the Passage given below and answer the questions that follow:

In matters of social responsibilities of Science, I will speak of things which are relatively easy for young
people, but difficult for older persons to understand. This is because young people possess a quality that,
in general, diminishes with years; the quality of imagination. Imagination is an integral part of science
and naturally endowed to young people. For the last three centuries, the findings of science have had
marked impact upon society, but people on the whole have not understood just how the world has been

affected.

From the time of Newton, people began to realize that through technology, which is based upon the
findings of science, substantial comforts and profits could be gained and from the time of Pasteur, people
also started realising that through the application of Science to medicine, they might be able to live
ldnger as many fatal diseases coﬁld be controlled and health facilities would increase. As years went by,
technological materialism was developed; demands for new technological knowledge became greater
and greater; more and more people became scientists and technologists. In the valour of its ignorance,
humanity accepted science and technology as its benefactor, seldom questioning, seldom asking where

it was heading.

Why is the quality of imagination possessed more by young people?
(1) Older people have a rigid attitude.

(2) Young people are more intelligent.

(3) Itis a quality that decreases with years.

(4) The older generation is conservative by nature.

What should be the title for the Passage?

(1) Old Vs young Generation

(2) Social role of Science

(3) Impact of Science

(4) Application of Science and Technology

Which of the following best explains the expression ‘technological materialism™?
(1) Technology and materialism are closely interlinked.

(2) Technology has played major role for material prosperity.

(3) All material comforts are due to science and technology.

(4) Advancement of technology has made mankind more materialistic.
Which of the following is not mentioned in the Passage?

(1) People have not realised how the world is affected by science.
(2) The use of modern gadgets has increased in modern times.

(3) More and more people have become scientists and technologists.
(4) Technology offers both comforts and profits to mankind.

Which correctly explains the word ‘Substantial” used in the passage?
(1) Consistent

(2) Considerable

(3) Concurrent

(4) Cumulative
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6. Choose the correct option that is opposite in meaning to the word *Diminish’?
(1) Curtail
(2) Dwindle
(3) Abate
(4) Increase
7. Which of the following is the appropriate meaning of the idiom ‘Break the bank’?
(1) To rob a bank
(2) Being very expensive
(3) Buying something after a lot of bargain
(4) Enter a bank forcefully
8. Fill in the blank by choosing the correct prefix. ?
Law and order is in jeopardy when there is rest.
(1) un
(2) an
(3) im
(4) dis
9. Choose the correct plural form from the options to fill in the blank.
There are five in the enclosure.
(1) deers
(2) deeres
(3) deers’
(4) deer
10. Which of the following is a correct sentence?
(1) Can the girl count on her dresses?
(2) Her mother counts on the money.
(3) The children count on the abacus.
(4) Can I count on you to keep my secret?

Directions: (Question No. 11-15)

Read the following passage carefully and answer the questions given below it.

True; it is the function of the army to maintain law and order in abnormal times. But in normal times
there is another force that compels citizens to obey the laws and to act with due regard to the rights of
other.

The force also protects the lives and the properties of law abiding men. Laws are made to secure the
personal safety of its subjects and to prevent murder and crimes of violence. They are made to secure the
property of the citizens against theft and damage to protect the rights of communities and castes to carry
out their customs and ceremonies, so long as they do not conflict with the rights of others. Now, the good
citizen of his own free will obey these laws and he takes care that everything he does is done with due
regard to the rights and well-being of others. But the bad citizen is only restrained from breaking these
laws by fear of the consequence of his actions. And the necessary steps to compel the bad citizens are
taken by this force. The supreme control of law and order in a State is in the hands of Minister who is
responsible to the state Assembly and acts through the Inspector General of Police.

11. The expression ‘customs and ceremonies’ means:
(1) fairs and festivals
(2) habits and traditions
(3) usual practices and religious rites
(4) superstitions and formalities
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12.

13.

14.

16.

17,

18.

19.

20.

A suitable title for the passage would be:

(1) The function of the army

(2) Laws and the people’s rights

(3) The functions of the police

(4) None of these

Out of the following which one has the opposite meaning to the word ‘RESTRAINED” in the passage?
(1) promoted

(2) accelerated

(3) intruded

(4) none of these

Which of the following reflects the main thrust of the passage?

(1) It deals with the importance of the army in maintaining law and order

(2) It highlights the role of the police as superior to that of the army

(3) It discusses the roles of the army and the police in different circumstances

(4) It points to the responsibility of the Minister and the Inspector General of Police

. The last sentence of the passage implies that:

(1) The inspector General of Police is the sole authority in matters of law and order

(2) In every state maintenance of public peace is under the overall control of the responsible Minister

(3) A Minister and a responsible State Assembly exercise direct authority in matters pertaining to law
and order

(4) The Inspector General of Police is responsible to the State Assembly for maintaining law and order.

What does the phrase ‘taken aback’ mean?

(1) Take a back seat

(2) Going back

(3) Disconcerted

(4) Disgruntled

What does the idiom ‘an arm and a leg” mean?

(1) very expensive

(2) very useful

(3) very difficult

(4) very easy

Choose the correct option for the expression ‘very slow and inactive’.

(1) expeditious

(2) sluggish

(3) bolting

(4) accelerated

Which option points out a meaningful sentence?

P - she turned over a newspaper

Q - and glanced at a picture on the back page
R - but before she did so
S - and which was lying on the table

(1) RSPQ
(2) QPSR
(3) PQRS
(4) RPSQ
Which is the correct passive form of the given sentence?
‘My father rejected my request to get me a bike.’
(1) I was rejected along with my request to get me a bike by my father.
(2) My request for a bike was rejected by my father.
(3) My request to get a bike for me was rejected.
(4) My request was rejected by my father.
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21.

22.

23,

24.

. Right

PART -B

Teaching Aptitude

(Expected Answering Time: 40 Minutes)

Expanded form of ‘MOOC’ is:
(1) Massive Online Open Course

(2) Massive Open Online Courses

(3) Multimedia Online Open Courses

(4) Multi-disciplinary Open Online
Courses

Whenever students are not attentive, the
teacher may

(1) ignore the behaviour
(2) stop teaching
(3) ask the student to leave the class

(4) change the teaching method

Multi-disciplinary approach in education
refers to:

(1) Teaching one subject at a time.

(2) Teaching of different subjects at
different times.

(3) Breaking boundaries between the
subjects while teaching.

(4) Allowing flexibility in choosing
different subjects.

Education being on ‘Concurrent List’

means:

(1) Education is both Central & State
Government subject

(2) Education is a Central Government
subject

(3) Education is State Government
subject

(4) Education is neither Central nor State
Government subject

of Children to Free and
Compulsory Education commenced on:

(1) 4th August 2009
(2) 1st April 2010

(3) 2nd October 2010
(4) 19th August 2008
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22.

23.

24.

25,

‘MOOC’ =7 fawaTia &7 &:
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(2) AT AT ATATET FrE

(3) WEETHITEAT ATATET AT FTHH

(4) FEE-RHITTTE Ao ateerre FrEE

w1 Feft et eqme gl 39 8, a9 fe=w
|

) I STALTL T AT FL
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(1) e AT § UF faaw F frgor & gt 2
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(3) overor  mwar foort o s 7 wfravedr 1
T AT 2

(4) TAfoeT ARl = § ST o A
Tt gl

fRreaT & a1 § g 7 S &

(1) v F= ol 7o AT =T AT g
(2) Torer #z =TT A T g
(3) ove T AT w1 A g

(4) foram 7 a1 T # o g e A fE e
FT

Foat &7 [A: o i sfRard e 1 i
T g3
(1) 4 =TET 2009

(2) 1992010
(3) 2 *Za7 2010
(4) 19 TET 2008
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26. Which of the following method(s) of

27,

28.

29.

30.

teaching is/are appropriate at secondary
level?

i. Lecture method

ii. Discussion method

iii. Project method

iv. Problem solving method

Select the most appropriate option from
the following:

(1)
(2) 1andiv
(3)
(4)
Irrelevant examples in teaching lead to:
(1)
(2) hindrances in understanding,
(3) Both 1 and 2

(4) Neither 1 nor 2

1, il and iv

1, 11, 111 and 1v

11 and 1v

Confusion

Psychological barrier to communication
is: .
(1) Noise
(2)
(3) Prior Knowledge

(4) Poor Expression

Prejudice

“Academic Bank of Credit” is launched
by:

(1) Narendra Damodardas Modi

(2) Mukesh Ambani

(3) Kailash Joshi

(4) Azim Premji

Problem-solving  abilities can  be

facilitated among students by:
(1) solving similar types of problems.
(2) encouraging rote memorization.

(3) encouraging children to look at
imultiple solutions.

(4) writing step-by-step solution to all the
questions.
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28.

29.

30.
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i. saTEaTe fafy
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iii. TS Rty
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(1) i, iii &7 iv

(2) iidTiv

(3) i, i, iii 7 jv

(4) i ST v

foreror & sramE e SaTgRn A
(1) FHEATE

(2) i & argT 2T 2
(3) 14 2=
(4

) AT ATTE2

TR ¥ FATETR AT &

(y A=

(2) TATERET

(3) T

(4) gITa Ffvreatr

“HFTINF S AR Hfee FTLART 7

o

(1) = ATHIETETH HIaT

(2) T AT

(3) FATer St

(4) A S

e ™iaT & aweaT-awTET AHarst

FATAT ST THaAT 8

(1) FETT TH ET TAATAT HT 2 FLH|

(2) T2 F ITAT T T

(3) F=AT AT FE AATLTT Z@ F o qreAried
FTF

(4) T TAT FT TG AT A
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32.

33,

34.

35.

Networking of Libraries
electronic media is known as

through

(1) INTERNET

(2) INFLIBINET

(3) INFLIBNET

(4) INFILIBINET

Which of the following statements is
correct?

i. Teachers can teach

ii. Students can be taught

iii. Students can learn

iv. Teachers can help students to learn

Select the most appropriate option from
the following:

(1) 1,11, 1 and iv

(2) iiandiv

(3) 1,11 and v

(4) 1iiiandiv

Which of the following belong to the
Affective Domain?

(1) Anxiety
(2) Vocabulary
(3) Expression Power

(4) Reasoning

PSSCIVE stands for:

(1) Pandit Sundarlal Sharma Central
Institute of Vocational Education

(2) Pandit Shankardyal Sharma Central
Institute of Vocal Education

(3) Pandit Sundarlal Sharma Central
Institute for Vocational Education

(4) Pandit Sunder Singh Central Institute
for Vocal Education

While studying using ‘a table lamp, the
light should fall

(1) on the face of the reader
(2) on the back of the reader
(3) on the page of the book being read

(4) any-where in the room
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31, ST HifeAT % Areaw ¥ qEawTadl St

Azafdr = Fgd gl
(1) INTERNET
(2) INFLIBINET
(3) INFLIBNET

(4) INFILIBINET

32. A= & & 17 97 FuT GER?
i. frersh wmT A
ii. ferrroff vy st EwT §
iii. et &g a=a §
iv. fvers faenfRiat 1 ieq & aeg FaFd §
FRforfa § & g9 Suga Ree w1 =37
F

) i, i, i S v

) i T v

(3) i, iii AT iv

) i #T v

33, Frefarf & & #a-ar srarers wre &
T &7
(1) Fr
(2) <=
(3) wArer=AfsE orf=F
(4) TR F

34. PSSCIVE 1 faeqa 7 &:

(1) R FETAE qHT Hegd TS AT

FTHAAA TSTHT
(2) UFEA siFTEAT T Heger TEAIEE WA
T USTHIAT

(3) TRT T i Avgd TETEE HT

FTHAAA TSTHIT
(4) TRT Tz i vz dESLE Wi AT
USRI
35. TGS AV F URd q9T THA qEAT
S Y

(1) TTEF F AEL T
(2) TTEE F S WX
(3) TE! ST ATAT TEF F IS I
(4) FHLHFLT AT
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36. In communication, major barrier to 3¢, FEUT F Ter FT orfy 7 THE TTF §:
reception of message is:

i. audience’s attitude i. Zefat i A ii T
ii. audience’s knowledge ii. =ef=T T T
iii. audience’s educational level

iv. audience’s background il. Z9FT F7 Afer T
Select the most appropriate option from iv. a‘&fﬁaﬁ'w‘{ﬁ
the following: T 3 5 s 5 B
(1) 1,ii, iii and iv (1) i, i, iii ¥ iv
(2) iiandiv (2) ii#dTiv
(3) 1 iiiandiv (3) i, i #¥ iv
(4) 1iandiii (4) i#Tiii
37. Wi-Fistands for . 37, vvaimTf%ay&znr 2l
(1) Wire Fire | (1) L wET
(2) Wireless Fidelity (2) FrETeE fEeferdt
(3) Wild Fire (3) TS HAT
(4) Winning Fire (4) fafT ®m
38. CAlstands for . 38. CAl %1 faeqa &1 2l
(1) Computation Assistant Intelligence (1) FEIZIAA AR greeAisr

(2) Computer Advanced Instruction (
(3) Computer Assisted Instruction (3) IR AT TeegEed
(4) Careful Advanced Investigation (

39. The brain of computer is the: 39. HET T AieAHF §:
(1) CPU (1) CPU
(2) ALU (2) ALU
(3) AU (3) AU
(4) CU (4) CU
40. Internet exploreris . ‘ -40. AT TR E{
(1) Website (1) TIATSE
(2) Search engine (2) FH IS
(3) Web browser (3) EEE LS
(4) Software (4) AT
-41. Dictation is useful for: 41, qaAE ITARA &
(1) 1mproving spelling. (1) FAAT F AT H
(2) improving expression power. (2) ATS=E orf¥h % g d
(3) improving sentence construction. (3) FTHFL-FAATT F I H
(4) retention of information. (4) ST % qfaem §
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42.

43.

44.

45.

46.

CEE -

Which of the following is not a MOOC
platform?
(1) NPTEL

(2) SWAYAM
(3) edX
(4) NDL

Which of the following attributes denote
greater strengths of a teacher?

i- Full time active involvement in teaching
ii- Setting example

iii- Willingness to put assumptions to the
test

iv- Accepting mistakes

Select the correct answer from the codes
given below:

1, 11 and iv

(M
(2)
3)
(4)

For teaching purpose,
computer used is:

1, 11, 1il and 1v
1, i1 and 1v

the type of

(1) Analog Computer
(2) Digital Computer
(3) Hybrid Computer
(4) All of the above

NISHTHA stands for
(D

National Initiative for School Heads’
and Teachers” Holistic Advancement
National Initiative for School Heads’
and Teachers” Holistic Assessment
National Institute for School Heads’
and Teachers” Holistic Advancement
National Initiative of School Heads’
and Teachers” Holistic Advancement

)
3)
(4)

Reflective teaching is a:

(1
(2

cyclic process of thinking about
learning.
linear process of thinking about
teaching.
cyclic process of thinking about
teaching.
linear process of thinking about
learning.

3)
4)

2022

42.

43.

44.

45.

46.

fAfafa § ¥ |9-9T MOOC w9 7Ei 87

(1) NPTEL
2) SWAYAM
3) edX
(4) NDL
fReferfRa & & Fi & o7 fvers iy e
v &1 Fifrgd 39 87

i- fRreror & goirio afer wrfierd

ii- SITERT T FLAT

i~ ATl Y T 3 W@ ==
v- Tt Ft e FA

i R g e § & 9 S A

(1) i, ii diTiv

(2) i, i, iii 3T iv

(3) iiiiaﬁTiv

(4)
fﬁw%ga@vﬁﬁaﬁmﬁmmw
5

(1) TATAN FET

2) FEfea Fr=g==

(3) BTEfEE g

(4) SR qAT

NISHTHA #T fa®ga &1 2l

(1) Forrer TAfAUfe i = 229 U dE
ZifeTiEe® TZaiaHe

(2) TUTH AU ®iT T A U S
2T AEaHe

(3) TR TSI WL T ggd Uz e
ZTferfees TZaiaH<e

(4) FIAA ZAITAUET A1 e 239 Ug 294
ZiferfEe® zamHe

EEACRERTI R
(1) FTOTT 3 JT | Jr=d T T 7T 2

(2) foreaor F ame & "= i T G 2
(3)  foreror 3 ame & " A7 = i 2
(4) ST ¥ AT # Hre A7 v 9t 2
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47.

48.

49.

50.

The use of teaching aids is justified on the
grounds of:

(1) attracting students’ attention in the
classroom.

(2) minimizing indiscipline problem in
the classroom.

(3) optimizing the learning outcome of
students.

(4) effective engagement of students in
learning tasks.

Right to Information Act came in to effect
in

(1) 2004
(2) 2005
(3) 2006
(4) 2007
Computers on the internet are identified

by:
(1) e-mail address

(2) Home address

(3) IP address

(4) IMEI

While using social media as a teaching
tool, the teacher should have awareness

about:
(1) Social security

(2) Financial security
(3) Physical security
(4) Cyber security

CEE - 2022

47.

48.

49.

50.

foreror TgTaE ATt #1 ITART T AER 9

It &

(1) FET " =T T e AT F7T F
AT IT

(2) AT H AITHAAZAAT T HAEAT A FH
FIH % ATLTT I7

(3) TEenfdat & " F afvos #71 sge
FIA F AT T2

(4) @tETe H i &7 qareT anitEr F
ATYTT I7

IAT FT AGFR AAEIRN @A
gl

(1) 2004
(2) 2005
(3) 2006
(4) 2007

FaTAE I FFYEL I Ig9T it T &

1) E-EAEFwTE
2) WMHFITH
(3) IPTTH
(4) IMEI &

Trerer HHfeAT FT freror IUFTOT F T H IUANT
FLQ AT FAFH Y ARTEFHAT gt AR

(1) FTETTE qar 7
(2) =it qee fi
(3) CIRaEE] qxar #r
(4) T HTEAT AT

(
(
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PART - C

Reasoning Ability

(Expected Answering Time: 60 Minutes)

51. You move out on the road in order to

52.

33.

proceed for a task. A black cat crosses
your way. Which one among the following
should be your subsequent course of
action that would best exhibit rationality?

(1) You do not proceed for the task

(2) You change your plan for the task

(3) You keep going ahead as per your
plan

(4) You wait for some time at the spot,
and proceed for the task

Which among the following pairs
conform to the notion of FIRST IN LAST
ouT?

(1) Batting, Fielding
(2) Socks, Shoes
(3) Starter, Main Course

(4) Ticketing, Travelling

Direction (Question No. 53 — 54)

Two statements are given, the first is an
ASSERTION (A), and the second is a
possible REASON (R) of A. '

The KEY is to be identified based on the
situation.

A: The weather in the tropical parts of
India, during the first-half of May
remains largely dry.

R: The maximum temperature at such
places hovers around 40° C.

(1) Both A and R are true, R is the valid
reason of A.

(2) Both A and R are true, but R is not a
valid/complete reason behind A.

(3) Aistrue, R is false
(4) Both A and R are false
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51.

52.

53.

g faedt w1 g s % g wew ' REad
&1 T el faeelY smosT T Fred 2
Ao & & -t sy seret Fasgt

FHATAT gl ATRT?

(1) I F 3 fore ot 7€ Amd

(2) T FTA F o ool Ao A5 A9 E
(4) 9TT HTF UL Fg AHT TATAT FE, AT FH
Ao & & F9-a71 et $5% 37 qre
TSE T G F ATET 57

(1)  "eaTsiT, e (Fielding)

(2) <, I

(3) weTeT, HA FTH

(4) fe=wfesT, 7T

fader: (7. 53 — 54)

q o Ry e &, wEe ww atvw (A) &

AT g A F7 @A Fe (R) 2

fRuf ¥ sam o g it vg= it ST

LR

A: T & IO07 Hieaefta 9t § 7L F a8

qEaTs ¥ AT FTH g8 TF 56 @aT 2l

R: 0F =14} 9 A¥Faq aTIHT 40° C F

AT TEaT gl

(1) A7 REMIA2T 2, R, A FT T F707 21

(2) AT REIE AL E, @A R, AT = TF
FA<I/TOT FTI0 AL 2

(3) AHENZ, R 2|

(4) A7 R T4 2
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54. A: The word FLUID originates from 54
FLOW

R: A fluid has a tendency to flow.

(1) Both A and R are true, R is the valid
reason of A.

(2) Both A and R are true, but R is not a
valid/complete reason behind A.

(3) Aistrue, R is false
(4) Both A and R are false

55. Whatis the missing term in the sequence? - 35

1,8, 34,53

(1) 18
2) 19
3) 20
4) 21

56. Which fraction among the given options 5.

will appear in place of ‘?” ?

35 7 1,
5°7°11°13°
1n 17

19
2) 19

21
G 15

15
4 13

17

57. Which letter should come in place of ‘?* ? 57,

A,E,J,P,W,?
(1) Y
2) Z
(3) E
4) F

CEE - 2022

. A: FLUID grs= it Saafxr FLOW & g2 2|

R: T < qaT & ag+ it gy g 2

(1) AT RIAT AR 2, R, A FT 38 FT 2

(2) AT REAEIALE, AFAR, AT g vF
/T FTLOT AET 2

(3) A#EI g, Rad 2l

(4) AT R IE T 2

aH § faqeq wr | 82

1,8, ,34,53

(1) |

2) 19

(3) 20

18

4) 21

Rumu s d ‘?’%Wﬁtaﬁ'—r-m 3T
(Fraction) grTT?

() 17

(2)

3 1

4 1

“?" % BT I FHIF-AT 00 AT ART?
A,E,J,P,W,?

fil W
2 z
@ E
(4) F
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58.

60.

61.

62.

Which letter or letter combination among
the following options should occupy the
place of ‘2’ ?

PARALLELOGRAM, ARALLELOGR,
RALLEEL, ?

(1 A
(2) AL
(3) ALL
(4) ALLE

. Which letter combination represents the

aggregate of the letters to be inserted in
the blank spaces of —
ab_cbaa_ccb_abcc_?

(1) cbab

(2) cbba
(3) aach
(4)  abcc
Which letter combination represents the

aggregate of the letters to be inserted in
the blank spaces of —

Pq_sqr_prsp_spq_ ?

(1) prsq

(2) rsqr

(3) sqqp

(4) psqp

Which number will occupy the place of
?” in the given sequence?

127, 438, 749, 870

(H 2

2) 3
(3) 4
4 5
Which pair from the given options is
analogous to?

Rash : Skin

(1) Stone : Kidney

(2) Pain: Waist
(3) Dandruff : Hair
(4) Allergy : Throat

CEE - 2022

58.

an.

60.

61.

62.

PrefRrfRre et 3 & 2 3 ST O AT
ot T AT ST RY?
PARALLELOGRAM, ARALLELOGR,
RALLEEL, ?

(1 A
(2) AL
(3) ALL

(4) ALLE

FF-TT FU-FA I o o § o s ar
e ¥ A HI AqTAT €2

ab_ cbaa_ ccb;abcc_ ?

(1) cbab

(2) cbba

(3) aacb

(4) abcc ,

FA-AT qUi-HF o o e & afEafaa &
ST T A F THg FT ILTAT 82

pq_ sqr_prsp_spq_?

(1) prsq

(2) rsqr

(3) sqgp

(4) psqp

FIT AT AT IS 2 FF g AT A2
127, 438, 749, 8?0

2
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63.

64.

65.

66.

67.

Which among the following options
represents a Triplet by NOT following the
same sequential logic as in the case of:
Newspaper Supplement : Feature :
Advertisements

(1) TV : Set-top Box : Remote Controller

(2) Curry : Vegetable : Salt

(3) Railway station : Platform : Foot
over-bridge
(4) School : Classroom : Teacher’s Room

Which is the 50th letter in the series —
ADMINISTRATION / NOI ... MDA/
ADM ... ION/ .cceeeuune....

(H A
2) R
G) T
4) S

If January : May for a Non-Leap year,
then in the same way March : ?

(I) June

(2) July

(3) August

(4) September

What is the 47th letter in the series —

WXYZ /| WW XX VY ZZ / WWW XXX VYY 22Z / 777
YYY XXX WWW / ........ Fiosss 2

() w
(2) x
3) vy
4) z

If SEAM is coded as 7—14 — 16 — 10, then
COW will be coded as:

(1) 13-5-15
2) 11-9=6
3 12-8-4
4) 15-9-5

CEE - 2022

63.

64.

65.

66.

67.

fAmfofaa # F 9t a1 ey = e
FATaT § ST IHT FEIT T FT I 8l FaT &
SGIREE TR R

(4) T 1 FAT : ToerE Fe

T @A FT 50 aT & FiT 41 87
ADMINISTRATION / NOI ... MDA/ ADM ...

4) S

e sy : wE -t o % forg &, av s«
T AT : ¥ o grmm?

(y

(2) TATE

(3) AT

(4) FET

T H@AT FT 47 AT AAT FIT AT 272

WXyzZ /| WW XX Yy ZZ | WWW XXX YYYy 22z | zzz

e T e S
w

N N SN

N <

T SEAMTT7-14-16- 10 F &I F FIT
T stTaT &, 9T COW =1 e #ie # forar

(1) 13-5-15
2) 11-9-6
& 12 -8-4
(4) 15-9-5
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68. If DARE is

69.

70.

71,

72.

coded as 6893, and
FORENSIC is coded as 74930521, then
what will be the code of FRANCE?

(1) 789301
2) 897103
(3) 798013

(4) 879301

If P stands for ‘PLUS’ , Q stands for
‘MINUS’ R stands for ‘MULTIPLIED
BY’ and S stands for ‘DIVIDED BY’,
then what is the value of 23 P3 Q4 R 18
S67?

(1) 12

2) 14

3) 15

4) 16

If, “+’ means ‘=, ‘-> means ‘X’, ‘X’ means
9

‘+’, and ‘=’ means ‘-’, then what is the
value of 24 +8 +36-12 x4 ?
(1) 223

(2) 147
(3) -236
(4) -425
Nirmal said, “This girl is the wife of the

grandson of my mother.” How Nirmal is
related to that girl?

(1) Father

(2) Husband

(3) Grandfather

(4) Father-in-Law

What should come in place of question
Mark (?) ?

DNN, FPP, HRR ? LVV

(1) GRR

2) GSS
@y JTT
(4) ITT

CEE - 2022

68.

69.

70.

71.

72.

s DARE #T 6893 3ii< FORENSIC T
74930521 % &Y for@r smar §, aF FRANCE
%7 I FT GR?
) 789301
2) 897103
) 798013
) 879301

7f2 P %1 1 ‘PLUS’ €, Q %7 54 ‘MINUS' ;
R %7 arf ‘MULTIPLIED BY’ & 3k S %7 aref
‘DIVIDEDBY’ &, @7123P3 Q4R 18 S6 T

) 12

) 14

3) 15

) 16

AT, + FT I, O T AT ), X FT A A,
A FTaS O, AW24+8+36-12x47
(1) 223

(2) 147

(3) -236

(4) -425

e & T, "o A= A4/ F O Fi ol
217 7wt & FRefe %7 ddg w2

1191

TAATEE 37g (?) F TITH 9T T AT AT17T?
DNN, FPP, HRR ? LV

(1)

(2)

(3) JTT
(4)

16 |



13.

74.

75,

76.

77.

Pen : Poet as Needle :
(1) Thread

(2) Button

(3) Sewing

(4) Tailor

IF DBMDVUUB means CALCUTTA,
then what means BOMBAY ?

(1) DQPDDX
(2) CPNCBX
(3) CPMCBX
(4) CPNCBZ
What number should come next in place

of question Mark (?) ?
53, 53, 40, 40, 27, 27,?

(1) 12
2) 14
(3) 27
4) 53

Which of the following is the necessary
part of the underlined word ELECTION?

(1) - President

(2) Voter

(3) Flag

(4) Nation

Starting from point A, Akhil walks 14
metres towards west, he then turns to his
right and walks 14 metres and then turns
to his left and walks 10 metres. He again
turns to his left and walks 14 metres and
reaches to the point E.

What is the shortest distance (in metres)
between A and E?

(1) 38
2) 42
3) 52
4) 24

CEE - 2022

73.

74.

75.

76.

4

FAH FA Y, AT

(1) T
(2) =T
(3) faems
() =

7f¥ DBMDVUUB T 3rsf CALCUTTA &, &t
BOMBAY ¥ frg Fr 2rm?

(1) DQPDDX

(2) CPNCBX
(3) CPMCBX
(4) CPNCBZ

weTaTH® (g (?) F T 9 Fi & "qedr
AT ATRT?

53, 53, 40, 40, 27, 27,7

(1) 12

(2) 14

(3) 27

(4) 53

A & & F9 a7 e @it as2
ELECTION T SIra9a 37 57

(1) g

(2) HAAT

(3) #T

(4) =

fig A & = 1o, i afer it AT 14
e srerar g, TR ag T1s i gear € 0T 14
Hrex wrerar & o fi ard e gEar g M 10
Hrex =rorar 1 g 6T & ard ST qEFT 3T 14
e =rerar & T g E q ag=ar 8l

A 3T E ¥ e =graw g (Hfiex &) 7| 7
) 38
2) 42
) 92
y 24
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78. A person writes all the numbers from 0 to
99. How many times the digit 3 will be
written?

(1) 18

2) 19
(3) 20
4) 21

79. In the following number series how many
pairs of successive numbers have a
difference of 2 each?

6') 4’ 1, 2, 2? 8’ 7, 4’ 2’ 1’ 5’ 3’ 8’ 6‘) 27 2’ 79 l’
4,1,3,9,8,0,

(1) 4
(2) 5
3) 6
4 8
80. The diagram below shows as:
P. Students studying Chemistry
Q. Students studying Physics

R. Students studying Mathematics
What shaded portion shows?

(1) Students studying Physics and
Chemistry

(2) Students studying Physics and
Mathematics

(3) Students studying chemistry and
Mathematics

(4) Students studying Physics, Chemistry

and Mathematics

CEE - 2022

78. TH =af<h 0 & 99 7% Fit a+ft earst Fr feraar
g " 3 et e fordt stTaEtt?
(1) 18

(2) 19

(3) 20

4) 21

79, FAefaia siw-saer & Ffas gearsi F o
SET (Pairs) ® 2 &7 3a< §7?
6.4,1,2.2,8,7,4,2,1,5,3,8,6,2,2, 7,
1,4,1, 3,9, 8,6,

(1) 4
(2) 5
() 6
(4) 8 ,

80. = < T Srpf Farieft 2
P. THTET TS FT AT FLA a1 1A

Q. AT 7 77T FA T =
R. T T T£qq9 FA T 1A

(1) AT e g 3 #7 Jeaas #7249
(2) AT 3 T 7 eqa= F79 a1 g

(3) THTA PR AT A0 AT qerAT FA

EIEECIE]
(4) ST, AT BT S T w7 Aema
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Part- A
Language Proficiency

(Expected Answering Time: 20 Minutes)

Read the passage given below and answer the questions 1 to 4:

I (Steve Jobs) was lucky I found what I loved to do early in life. Woz and I started Apple
in my parents' garage when I was 20. We worked hard, and in 10 years Apple had grown
from just the two of us in a garage into a two billion dollar company with over 4000
employees. We'd just released our finest creation the Macintosh a year earlier, and I had
just turned 30.

And then I got fired. How can you get fired from a company you started? Well, as Apple
grew we hired someone who I thought was very talented to run the company with me,
and for the first year or so things went well. But then our visions of the future began to
diverge and eventually we had a falling out. When we did, our Board of Directors sided
with him. And so at 30, I was out. And very publicly out. What had been the focus of my
entire adult life was gone, and it was devastating.

I really didn't know what to do for a few months. I felt that I had let the previous
generation of entrepreneurs down — that I had dropped the baton as it was being passed
to me. I met with David Packard and Bob Noyce and tried to apologize for screwing up
so badly. I was a very public failure, and I even thought about running away from the
valley. But something slowly began to dawn on me: I still loved what I did. The turn of
events at Apple had not changed that one bit. [ had been rejected, but I was still in love.
And so I decided to start over.

I didn't see it then, but it turned out that getting fired from Apple was the best thing that
could have ever happened to me. The heaviness of being successful was replaced by the
lightness of being a beginner again, less sure about everything. It freed me to enter one
of the most creative periods of my life.

1. Steve Jobs got fired from his own company because-

(1) His talented friend betrayed him

(2) He had serious differences with his employee

(3) The Board of Directors took the side of his partner
(4) His vision of the company was faulty ‘
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2. The phrase that I had dropped the baton’ suggests that Steve Jobs
felt.

(1) That he had failed to take up the challenge
(2) He had lost the race

(3) That he was defeated

(4) Let down by his predecessors

3. Choose the best answer: Steve Jobs felt that being fired from Apple was the best
thing that had happened to him because:

(1) He could understand his situation better

(2) He stopped bothering about failure

(3) He became light in the head

(4) He entered the most creative phase of his life

4. Choose the expression that fits Steve Jobs’ philosophy of life:

(1) Give up if you cannot handle the situation
(2) There’s always light only at the other end of the tunnel
(3) Love what you do

(4) Creativity comes automatically to everyone

5. Select the word or phrase which gives the closest meaning of the idiom

“Left high and dry”

(1) To be severely punished
(2) Left without enough water to drink
(3) To be left in a difficult situation without help

(4) To throw an unexpected surprise at someone

6. Select the word or phrase which gives the closest meaning of the idiom

“To burn the candle at both ends”

(1) To exhaust oneself through overwork
(2) To be wasteful

(3) To be foolish

(4) To handle a difficult situation boldly

3
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7. Identify the correct sequence of sentences:

Pollution has been defined

P: or form of energy to the environment at
Q: accommodate its dispersion, breakdown, recycling or storage in

some harmless form
R: a rate faster than the environment can
S: as the addition of any substance

(1) PRSQ
(2) SPRQ
(3) SRPQ
(4) RPSQ

8. Identify the correct sequence of the sentence:

There was

(P) Needed for its everyday life
(Q) A time when each family
(R) For itself most of the things
(S) Actually produced

(1) QRSP
(2) RQPS
(3) RSPQ
(4) QSRP

9. Identify the part of the sentence which has an error:

On my request Lalit introduced me to his friend who is singer.
A B C D

() A
() B
3)C
(4) D
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10. Choose the alternative which best expresses the meaning of the underlined phrase

“The university will have to shelve its plans for expansion in view of the present
situation”

(1) cancel

(2) consider

(3) postpone

(4) put in a shelf

Read the passage given below and answer the questions 11 to 13:

A roof over one's head is a dream that every human being aspires for. While the rich and
famous create palatial abodes for themselves, the poor man tries to build himself and his
family a shelter be it only a plastic tent. Housing, at one time was never an issue in the
Indian context. The joint family system meant that there was one house for the entire
family and all the family members lived in the family home. The trend of migration to
cities for jobs first raised the issue of a house for a family. The advent of the nuclear
family system further exacerbated the situation with parents and children living away
from each other. Rising concentration of people in urban areas also resulted in an increase
in the number of people living in slums and squatter settlements. Affordable housing has,
thus, become one of the biggest challenges of the present times. Planning for a home has
become imperative for the younger generation today who are often forced to begin their
career with the quest for a permanent home for themselves. Skyrocketing prices of land
and real estate in urban areas have made houses unaffordable. Ever rising rents, fleecing
builders, unapproved land use, sub standard building material etc have all widened the
gap between supply and demand.

3 ety exacerbated ____ ” (line 7) here means-

(1) Aggravated
(2) Embittered
(3) Produced

" (4) Created

MM-2/A [P.T.O.




12. What is the main reason for migration?
(1) To start a nuclear family
(2) To find a better job
(3) To look fora good house

(4) To live away from parents

13. The main thrust of the passage is on

(1) The way people choose their houses

(2) The reasons why a home becomes necessary today
(3) The relationship between parents and children

(4) The problem of finding a house to live today

14. Which of the following is an objective question?

(1) True or False

(2) Essay type question

(3) Short answer type question
(4) Open ended question

15. Choose the correct sentence:

(1) Where did you get the money from?
(2) Where you got the money from?
(3) Where the money you get from?
(4) The money you get from where?

16. Choose the phrase that best completes the sentence:

If you would please take a seat in the waiting room till the Manager sees you,
you’ll find plenty of magazines to

(1) Look through
(2) Look at

(3) Browse through
(4) Refer to
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17. Select the alternative which represents the correct way of writing the underlined
part as standard written English.

Many middle class individuals find that they cannot obtain good medical attention
despite they need it badly.

(1) Despite they badly need it
(2) In spite of they need it badly
(3) Despite needing it badly

(4) Therefore, they need it badly

18. Choose the best preposition to fill in the blanks:
What do you make all this?

(1) with
2) of
(3) by
(4) for

19. Choose the best preposition to fill in the blanks:
His path was beset difficulties.

(1) with
(2) within
(3) among
(4) by

20. Four words are given here out of which only one word is spelt correctly. Choose
the correctly spelt word.

(1) Debilitate
(2) Impecable
(3) Inkulcate
(4) Harrass
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PART-B T

Teaching Aptitude fRretor 3 ReTHAT
(Expected Answering Time : 40 Minutes) (m FaT AT : 40 'm?-ﬁ,')

21. Which of the following is the 21. Arafaf@a & O a0 suafeuar

most unreliable predictor of FT Ty 30s 3feET §Fds
educational achievement? T &7
(1) Inherited factors (1) dAMAITT FRF
(2) Ethnic origin (2) STEAT 39y
(3) Classroom experiences (3) e TETRA 3HFHT
(4) Self concept (4) 3TcH Hhedal
22. A disadvantaged child’s chances 22, faearew # 'ﬂﬁﬂﬁﬁ?—l’ g &I
for success in school is maximized Boar 7 THEeT e @dr §
when the child is- =7 T
(1) Taught separately (1) & 3Hel3T ¥ YgrAT e
(2) Provided vocational training (2) N 3T Sl & dT
along with other children SRS giefor I ST

(3) F WY 3T AT T

(3) Treated like any other child gt = S

(4) Facilitated to know his/her (4) T YA &THAT I TgdTetd

potential H #AcE Fr AT
23. The ability of reading with 23. Ued §U THSTA T &HAT &T S

comprehension is most likely to gRUTH gl &7 THEAT B-

result from:

(1) Guided reading (1) fAERT g &

(2) Reading aloud (2) IR ¥ 9o &

(3) Unstructured silent reading (3) 3RRAT Al T &

(4) The teacher reading to the (4) T A 3EATIH SaRT ST
class i

8
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24. Which one of the following is not

25.

26.

suitable for helping shy students
in a class?

(D
(2)
3)
4

Discussion
Group project
Lecture

Role play

Which of the following is the most 25,
appropriate reason for
homework to students?

)
(2)

giving

To promote self-study

To facilitate exam
preparation

3)
4)

To check their progress

To apply their classroom
learning

One will have more chances of 2¢.
being effective as a teacher, if
she/he-

(1) Belongs to the family of

teachers

(2) Has high educational

qualifications

3)

Is very friendly and lenient
with the students

Can relate to the needs and
concerns of the students

4
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24,

e 7 et ARt $r wgraar
e & v Afaf@d 7 4 Fia-
| 3UYFd QT 67

(1) ol

(2) wg RS

(3) eI

(4) oA fAdgor

fcare @t Tg-ary e FT FEd
39gFd HRUT fAefafad & 4
Ple-ar 2 '

(1) Faregry &1 gerar galr
(2) TRET &I R H FaTH
FATAT ‘

(3) 3AH gaAfa FHr AT HEAT

(4) paT TAIH I A HLAT

e & w7 F warEr @ dr IAF
H3aeT gl afe-

(1) 9% Rems & 9RarR @
qafga &

30% 9 3T AeI0TH
degam §

gz facnfdat & |1y
fAeeaR 3R 3ER &

5 faenfat #r
3TaRISRART 3R genfaar
I THS

(2)
3)

4
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27. Which of the following is most
facilitating

28.

29,

@

important  factor
learning in the classroom?

Students attend the classes
regularly

(1)
(2) Classroom discipline is
maintained

Active involvement of
students in the classroom

3)

4

Students are extrinsically
motivated

Which of the following is not a
barrier in classroom
communication?

(1) Noise of students in the
classroom

Confusion on the part of the
teacher

(3) Outside noise disturbing the
class room

(4) Lack of leadership

A new teacher to start with will
have to-

(D

Enforce discipline in the
class

(2) Establish rapport with the

students

Give a lecture on do’s and
dont’s

3)

Tell the students about
his/her qualifications

4

MM-2/A

27.

28.

29.

10

&t 7 A & Ferar & &q
fArfaf@d & & ge8 Agcaqul
FRH FAT §7?

(1) Tcardt @afaa 9 & wear
# ufeyd w®

HETT 3 ITTATHA FoAT B
well 7 facanfdat &1 diha
eI

Riganferit ¥ a1 w9
IRa fFar JTT

(2)
3)

Q)]

FeTT H @uvoT & fov Aafat@a
ﬁﬁﬁamaﬁ%‘z

(1) e & sedi &1 AR

(2) f&T&#a%Hm

(3) Bl AT @ wET H RRAET
(4) FIca FT 3

AT faTF @ 3N I B YE
A ¥ Tgel-

(1) & & AT AR A
g
faeanf¥at & ary dler
TR AT gram

FAT HY AR FAT a1 & W
SATETST ST B4
ezt a7 el deiftrs
Fagar3tt @ aRfad e
SEL)

)

3)

4




30.

3L

32.

The best approach of assessing
the process of learning is-

(1
2)
3)
4)

During the class
End of the class
End of unit
End of term

As a teacher if you are not able to 31,
answer a question posed by a

student in your Class, you would-

(1) Ask a counter question to
that student

2)

Ignore the question and
proceed with your teaching

3)

Say you will read and
discuss next day

4

Try and give some answer

The primary purpose of asking
questions in the classroom is to:

(1) Give directions to the
learner

(2) Maintain discipline
)

Ensure student involvement
in learning

(4) Enable students to clarify

the concept

MM-2/A

30.

32.

11

31T T Ufehar 1 AHTeheld
FT I 3TOT dHT &-

(1) e & R

(2) HEW F AT A

(3) s & Ha A

(4) FF&F ITH

uwF feTd & ®9 H Al 37T FHaT

# fdr facandl garT q& v gee

T 3T AN & Fh -

(1) 39 facgmdf & geeat e
e

(2) 9T H IACET F TGIAT
SIRY LT

(3) HEN F 3T TgH T
Rt wrell B

(4) T M 3 & H JqcoA
HE

HETT 7 9T YOl &l TAAS
3¢ad -

(1) TRewef s Ader &ar

(2) 3RATHA FATC T@AT

(3) 3y & faeafiat &
sfet gAafaa e

GYROT &l TAST A H
ozt 1 |atH SeTrer

4

[P.T.O.




33. Which of the following is the most 33,

likely reason for a student not
interacting with others in the class?

(1

Superiority/inferiority
complex
Lack of care for anything

Lack of social skills

Lack of emotional skills

)
3)
4)

34. While memorising a poem, which 34,

of the following is most helpful in
its retention?

(1)
(2)
)
4

Reading and recitation
Listening to recitation

Discussing with peers

Comparing with another
poem

35. Which of the following best 335,

describes  “students = working
together in a group” to perform a
learning task?

(D
(2)
3)
4)

Cooperative learning
Discovery learning
Exploratory learning
Project based learning

36. Which one of the following

organizations provides open and
distance learning for school
education?

(1) IGNOU
(2) NIOS
(3) CBSE
(4) NCERT

36.

12
MM-2/A

et 7 faezrdt &1 s faenfat
& T Hel-Sllel o Fla FHT
fafaf@a & ¥ *ia ar gafaa
FROT §?

(1) Frsear / ar A=ty

(2) Tdr ot a&q & AT ArRarer
(3) @S Sl & HAT
(4) HEATCHS HiRT ST HATT

HAAT HSET FA AT
ffaf@a # @ 37 35 @ A7
HlT HEIH IM?

(1) 9gar 3R araeT

(2
3)

(4)

ardel &l ool

It & gy GaR-faad
cad Hiaar @ Jefar

s FA AE@A g ‘et &
T H TFH W FE FEA H
farfaf@d & @ 9w 3r<or afva
T B-

(1) HgHRY H&TH

(2) e 3rfReE

(3) 3FavUTcH® TATH

(4) IRAISTT AR AT

Arafaf@a & I i a1 s
fererdy RieT g Had 3R &y
AT geTT FIar 87

() &7

(2) TAITEHTH
(3) werTEs
(4) TAAGIRE




37. Which of the following is 37. Arff@ad & 4 &l ar

synchronous communication? o . 39
(1) Online forum (1) 3Tl WRA
(2) Online chat (2) 3ifeTemea e
(3) Wiki (3) fafs

@) Blog (4) seifar

38. Which among the following is the 38, #Ftmdt Reaf¥dl Hr Ggrgar &=

best way to help bright students in 7 ged 3o a9 DrEararEd
their learning? St o
(1) Teach them separately (1) 3¢ 3T & Yl
(2) Ask their parents to give (2) AT & 3¢ HifT o
them coaching FT gl
(3) Provide advanced level (3) 3eAd ER ST freT graEe
- learning materials TeTe &
(4) Allow them to pursue their (4) 3o¢ YT T HT FA el

interest

39. Which is the best indicator of 39. frere T gHaiedr &1 &Iy

teacher’s effectiveness? ITHT Thaw Bl 27

(1) Timely completion of (1) UreTshd &I HAG W [T
syllabus gler

(2) Student interest in the class (2) e H fagardt v ¥

(3) Attainment of learning : (3) drES & wfawer A wiRd
outcomes

(4) Punctuality and sincerity (4) THF Fr grEdr AR fser

13
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40. An “inclusive education” 40.

classroom consists of children-

(1) With and without disabilities

(2) With and without disabilities
and disadvantages

(3) Who are disabled and
children who are not
disadvantaged

(4) Who are disadvantaged and
children who are not
disabled

41. If you spot a student coming 41.

regularly late for the classes, then
you should:

(1) Punish the student
(2) Send him/her back home

(3) Ignore the student for this
behaviour

(4) Try to know the reasons for
being late

42. How would you promote 42.

inclusion of all children in the
classroom?

(1) Understand the children’s
needs

(2) Segregate the students
(3) Have different curricula

(4) Assign separate teachers to
teach

14
MM-2/A

U AT R8T Y F&T 7 8id &-

(1) 3mrerdar afga 3k fed
g

(2) JEFACT qur ghaur afa
AR TRgd s=d

(3) =d S e § 3R g
St gfaer afa 787 §

(4) F=u S glaer dfad § 3R
T ST 3T A8 Bl

afe P faeardt afaa s &
e H ST I 3T g a 3H19-

(1) Tt = &g &

(2) Tz & =) g A &

(3) 39 cuaer & fau faezrdf
I 3ACTT T S

(4) T T 3 FT HROT A HT
SATH LN

FeT H gt g=al & AT Fl
3T HY Wicqred HL?

(1) s<ai & HaGehdl H
qHST

(2) faeafat #r gas FT

(3) 3ITT-HEAT ISTAAT IR
LT

(4) 3TerET-37eT9T R8T @ GGl
T FACRY &




43. Which of the following statement
is not correct?

(1)

Children learn from their
experience

Intellectual ability is a
hereditary factor

(2)

3)
(4)

Children are active learners

Both nature and nurture
influence development of
children

44. If backbenchers create disturbance

in the class, what should a teacher
do?

(D)
(2)

Ask them questions

Stop teaching and ask them
to leave the class

Move near to them and

3)

continue teaching

(4) Make them sit in the front
45. Which of the following is not an

implication of Right to Education
(RTI) Act 2009?

(1) Twenty percent
admissions in private schools
for deprived children

five

(2)

Age appropriate admission
in schools

(3) Maintaining prescribed
pupil teacher ratio

(4)

Providing learning resources
to every school

MM-2/A

43, Fe=afaf@a & @ &l a1 sy
HET oTel 872
(1) o= 39 Igwal & e &

(2) dleften aTHEar dRMAI gl
3

(3) = wfrg @t W dad §

(4) " AR dreleT-aNoT gt
3o AT & gTad ad

e
44, TR Fam F IS Soar arer fagardt

IMSESr YeT A ¢ or fRereh

FIT AT AGU?

(1) 38 93T 9&

(2) TG 9 HIF 3w FAT F
e STl P Fe

(3) 3T T SR IG=AT SR
Rec]

(4) 3e& 3mer & 9fda 7 feee

45, &1 &7 F Pl @r & o
3R (RTI) 3ifafaass 2009 &
(1) afaa s=at & fav e
faeareat & g=dg gfawd
gaer
(2) TezmeEl # 37 39gFd JaU

(3) fuRa facardi-Riers
AT &A1 TG
g Aehrerd A AHfeeaH

e TEYU JeTe e

4)

13
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46.

47.

48.

49.

To achieve the desired success for
a given task in teaching, one must
have-

(1)
)
3)
4

Aptitude and personality
Personality and attitude
Attitude and interest

Attitude and aptitude

The School Management 47.

Committee (SMC) is established
for-

(1) Maintaining physical

resources

(2)

Ensuring parental
partnership

3)

Supervision by the
management

(4) Monitoring the head teacher

Which of the following register 48.

shows the physical resources
available in the school?

(D
)
3)
4)

Stock register
[ssue register
Movement register

Accession register

The most powerful factor 49.

influencing the effectiveness of
teaching is-

(1)
)
3)
4

Student competence
Teacher competence
Pedagogical practices

Educational resources

16
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46.

fRraroT # T av SRy & arfed
FhoTcll g BT dIfgu-

(1) f@erAar IR Ffddca
(2) afFdea 3T fegha
(3) g AR

(4) 3fAghr 3R e

faearerd gaue a@fafa (SMC) &r
Wﬁﬂé%’—:

(1) &ifas Famee #9910 @A
ed

(2) sTaE AT glakad
el g

(3) WSt gRT GHAETOT &

(4) TUT EATTER F HAllelelel
&d

e

T & ¥ -4 afSer A
# 3ucey Hifaes FaTUar Rl
g7

(1) Hrg-Hear (¥eih) dfsrr
(2) T dfsre

(3) 3TaTSTEr giaTenT

(4) 9REEUT GitenT

fRretor v gemraRiear & g
FATT G JaT FRF &-

faeardt & ardar
frater T &TAdr
Rieeme T geufaar
Faiforer FaETET

(1
2)
3)
4




50. The use of teaching aids is best 50
justified on the grounds of -

(1)
(2)
(&)

4)

MM-2/A

Attracting students’
attention in the classroom

Minimising indiscipline
problems in the classroom

Optimising learning
outcomes of students

Effective engagement of
students in learning tasks

17

fRraToT WErIE AT & YT @

3T g FT HalTth STFA

3R 8-

(1) Fem & Reafdat &1 g
3T HEAT

(2) F&T F ITATHAGAT T
FH U HH B

(3) Tzt & daa &
gfawer $1 3feaa aifcd

(4) e & 7 et &
el dR J S

[P.T.O.




PART-C
Reasoning Ability
(Expected Answering Time : 60 Minutes)

51. Which region denotes Indian 51.
leaders who are not singers in the
following figure?

Indians Leaders

Singers
(1) 2
2) 3
(3) 4
4 S

52. In the Problem Figure (b) follows 57,
from (a). Select the correct
alternative from answer figures,
which will come in place of “?” in
the problem figure such that (d)
follows from (c) in the same
manner as (b) follows from (a).

Problem figure

Sl |12 A
a b ¢ d

Answer figure

Al 2] A &

) ) ) @

-J

18
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AT-T
GUEEIRALGI

(3NfEa 3 §7Y : 60 Ade)

frfafaa e # Fia & &
SR darst & gafar & S
ATE AR 87

(D
)
3)
4

a b~ W N

YRS JTHid (b) 3R AP (a) &
oo g5 B1 3R Pl A F @
fded &1 T Y S 9ReT 3MMpid
F ‘2 TY IR 7T fFH 9K (b)
$r 3caf (a) @ g% & 3 IHR (d)
$r 3cuf (c) ¥ &S &l

o AP
< NI RINRE;
a b ¢ d

I AF

Al [22] 1] [&

M ) 3 )




5%

54.

In the following diagram the 53, farfaf@a @ & By, g

triangle, the circle and the square
represent students, singers and
athletes respectively.

Based on the above, which number
represents students who are
singers but not athletes?

(1) 2
2 4
3) 6
@) 7

Which two statements among the
following cannot be true together
but both the statements can be
false.

A. All the boys make noise in class
B. Some boys make noise in the
class

C. Some boys do not make noise in
the class

D. No boy makes noise in the class

(1) AandB
(2) AandC
(3) AandD
(4) BandC

MM-2/A

g g1 fagardf, e Td vyele
FI GQRATEr &1 IWFd & IJUR W
i o FE&ar § St et s
T TYeliE gl & Y gl &7

(D
)
3)
4

N o AN

54, TrAfaf@a A @ $i9 @ a1 FYA

19

TH Y I A @ Fhd Red
grAr | 8 dHhd ol

A. e # |l o AR A §
B. o o H&T # R #d1d §
C. $& oM &ell # AR ¢ FAA
J

D. 1% off ©F HaT H AR Aal
Fad g

(1) AtdB

@) AmaC

(3) AT D

(4) BT C

[P.T.O.




55. Look at the problem figures and 55, weaf 3hfa 1 AT 3R dw &

identify which of the answer
figures should replace the question
mark in the problem set of figures.

Problem figures

DA< AN
o9 ||| ?

Answer figures

LT

IR A Y PleT A AT wRaT 3mpia
& T 9Y 3|

T AF
N R AN
||\

L AF
0O DB

56. Asshownin the following diagram 56, Si&m & e & ZeTar T §

a7,

the faces of a cube are represented
as a, b, ¢, d, e and f. Which face is

opposite to face ‘a’?
ﬂ

B

(1) d
2) e
@G f
4) c

Which number appropriately
replaces the question mark in the
following sequence?

D-4 H-19 J-10 R-9 U-? W-23
(1) 18
2) 19
(3) 20
@) 21

MM-2/A

3T

20

F HAART # a, b, ¢, d, e 3R f
ﬁa&frmwhmmaé?ﬁqﬂa

H i 3MUan?
f [

-

b c

(1) d
2) e
3 f
4) c

frafaf@a segha & yvearas
e & T W Sl @ dE&r
Areaf?

D-4 H-19 J-10 R9 U-2 W-23
(1) 18
2) 19
(3) 20
@) 21




58. Which number should replace the 58, 3tfshar & Y=Aaras Red & T

9.

60.

61.

question mark in the sequence?
913,22, 7 63

(1) 24

(2)- 32

(3) 38

4) 54

Which letter-number
appropriately replaces the question
mark in the following sequence?

E-22 H-19 K-16 N-13 ?
(1) Q9
2) M-12
(3) N-9
4) Q-10

pair 59,

In a certain code language 617 ¢0.

means ‘sweet and hot’, 735 means
‘coffee is sweet’ and 263 means
‘tea is hot’. Which of the following
would mean ‘coffee is hot’?

536
236
753
Rl

(1)
(2)
3)
4

If in a coding language CE H L is
codedas WTPK,thenDGIM
would be coded as-

(D
)
3)
4)

WTQN
WTRO
VRN J
VRMK

MM-2/A

61.

21

9T SleT-dT &A1 HE?
913 22 7, 63

(1) 24

(2) 32

(3) 38

(4) 54

fAfaf@d e & Sl ar
Hﬁt—é@msﬂgrg%mﬁ%a%
TATT GT TTIAT?

E-22 H-19 K-16 N-13 ?
(1) Q9
2) M-12
(3) N-9

4) Q-10

afy et e wear & 617 &1 3
et 3R W, 735 F HT HH
;S & 3R 263 F I T
¥ el & ¥ e 3
RIPT I & EM?

(1) 538

(2) 236

(3y- 753

(4) 731

Ifg e e TERTACEH L
HMWTPKSHEF A g DG
J M & FHe F&ar grn-

(1) wWTQN

2) WTRO

3) VRN J

(4) VR MK

[P.T.O.




62. A special class of PRIME numbers g2,
is called EMIRP, where the
spelling denotes the sense. Identify
an EMIRP among the given
primes.

(1) 41
(2) 53
3) 73
(4) 83

63. Court : Justice :: School :

Student
Discipline

(D
2)
3)
(4)

The words given in capitals form g4,
the question pair. They are
followed by four answer pairs of
words. Choose from them the one
which  best represents the
relationship  similar to  that
expressed by the question pair.

Education
Development

64.

FILM : DIRECTOR

(1) Painting : Artist

(2) Photo : Photographer
(3) Sport : Coach

(4) Novel : Novelist

65. If in a coding language INDIA is g5,

written as  KPFKC, then
CZECHOSLOVAKIA will be

written as-

(1)
(2)
3)
4

EBGEJQUNQXCMKC
EBGEJQUNQXCMKA
EBGEIQUNQXCMKC
EBGEJQUQXCNKCK

22
MM-2/A

fret faQw Soft F PRIME @&amsi
FI EMIRP &gl tar & @ dder
d 3 & Y g gl Aeafai@d
AT ¥ EMIRP &7 Ugdlel &1
1) 41

2) 53

3) 73

(4) 83

1 ro b B | © SRR e o 2

(1) faezmit
(2) faw=
(3) far
(4) T

T3 MR A R av o gea-g7H
§1 3% 918 IR 3R-FIA YA e
AT Fl GA-GIH & HAT Y FHI

gefet & fou faeheq &1 g

frea : e

(1) Rl @ REeR
(2) IET : BT
(3) Wa : @

(4) YA ITAEFR

It fRer e o & INDIA &
KPFKC for@r sirar § ar
CZECHOSLOVAKIA &t _
for@r Sreem|

(1) EBGEJQUNQXCMKC

(2) EBGEJQUNQXCMKA

(3) EBGEIQUNQXCMKC

(4) EBGEJQUQXCNKCK




66. Given below are two statements gg. =< a7 Sy 3R aF Ay R
followed by two conclusions.

Decide which of the conclusion(s)
follow(s) logically from the
statements.

Statements:

1. Teachers are human beings.
2. All human beings need rest.

Conclusions:

L.

All human beings are not

Teachers.

II. Teachers need rest.

(D
)
3)
“4)

67. The

Both I and I1
Neither I nor II
Only I

Only II

statement given below is g7,

followed by two assumptions.
Which of the assumption(s) is/are
implicit in the statement?

Statement:

All war widows in India need to be
covered under family pension.

Assumptions:

I. There is a pension plan in India.

I1. There are war widows in India.

(1)
(2)
3)
4

MM-2/A

Only I

Only II
Neither I nor II
Both I and II

23

T §l SAF § FiT § sy @@
FYAT T UIcd HT Tohd gl

Y

1. Rt #7781 ¢
Z.Waﬂwﬁma@r
3TGIHAT Bl ol

IGRC B

|. e FIsa Rarw g

[, TVeThl &r R T IFTaLTHdAT

gl &1

(1) 1 3R 1 gt
Q) aTIdARTEN
(3) & |

4) &/F I

J U 91T U & Y gr YRoNT
Yerd T IS §l SAH F Hiad AT
GRUMT el F 3iaffea &
HYod:

ARG & @ gy fuamit &
AT ST & FNT dR™r S
=Ife Tl
RO

| R & G THA 39T B
Il. R # ey fara g

(1) &% |
2) R&F I
3) agIARAL

4) 13RIl g=r

[P.T.O.




68. Time of a school is from 8:00 a.m. ¢8§.

to 2:00 p.m. There are eight
periods and a break of 20 minutes
after 5 periods. Between any two
consecutive periods a gap of 2
minutes is given. What is the
duration of each period?

(1) 40 min 30 sec
(2) 40 min 45 sec
(3) 41 min 00 sec
(4) 41 min 15 sec

69. If O represents addition, M g9,

represents subtraction, A
represents  multiplication, Q
represents division, X represents
equal to, Y represents greater than
and Z represents less than.

One of the alternatives in the
following is correct. Identify that-

(1) 12X402Q1A4AZ
(2) 8Y2A3A4Q2A4
3) 10X202A401M2
(4) 2Z2A401A4M38

70. Which letter should be placed at 7,

the question mark to maintain the
sequence?

X USPNK?
() H
2) 1
) J
4 L

24
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facgera & @A 9ra: 8 S &
AEl & 2 991 d& ¢l fezrem A
8 rorier § 3R 5 &rener & 3Wid
20 s @ e g1 & emaR
Frael & &g 2 PAac & S
far Srar gl A% Frena
gHIE Fdu?

(1) 40 fAsic 30 |=HUs

(2) 40 fAeT 45 A%HUs

(3) 41 fAsc 00 |=Ug

(4) 41 fAdc 15 dvs

Ife O ‘s’ &1 e2ifar &, M

‘g’ T gRAfar §, A “JOT Al
gIfar &, Q ‘T’ & Riier &, X
‘T A AT §, Y H AEE
JUT Z V FHH FH AT § T,

faf@a fAweal & ¥ v &
gl TIgT |

(1) 12X402Q1A4AZ
2) 8Y2A3A4Q2A4
(3) 10X202A401M2
(4) 2Z2A401A4M38

ITHA H FAC WA & AT FiT
T ER F URAGTdS e & T
W g AR

X USPNK?

(1) H
2) |
3) J
“4) L




71.

72.

73

The second figure (B) in the
problem set of figures bears a
certain relationship to the first
figure (A). Based on this
relationship choose one from the
answer figures which most
appropriately would be placed at
D.

@

Problem figure:

& @3 L2

A B C D
Answer figure:
1 2 3 4

Six friends A, B, C, D, E and F are
sitting at a rectangular dining table
in the following order.

F is sitting opposite to B. B is not
next to A. D is on right of F. A is
sitting opposite to E. Who is sitting
on immediate right hand side of A?

() D
(2) E
3) C
4 F

At present my age is 3 years more
than twice that of my brother. If
two years back, I was 9 years old,
how old is my brother now?

(1) 2 years
(2) 3 years
(3) 4 years
(4) S years

MM-2/A

71

72,

73,

25

T AT & FE A IR (B)
IFHA (A) F A1y v ARTd de9y
&I geifar g1 S8 §aY & AR W
I HHIA FHE H (D) & T W
FR SUYFA A F T F

T AP

@ elgl
IAL AFHfQ :

2 Q) 3]

1 2 3 4

og AT A B, C, D E3IRF =
IAHR @A & cdd W
Prrfaraa 3gra 3 85 ¢
F%WBQBT'S'E%IBQ?@[H?
g A Fgt g1 F &1 afgelr 3R D
BAFTFAEEITGINEI A S
8 alfgel 3R HieT a1 g3 87
(1) D

() E

(3) C

(AL F

TAAT 7 AL Y A S H IY
& AN ¥ 3 a¥ R §1 IR A
ay gger AU MY 9 a¥ & A, ar
TAATT H T ATS T 3 el 872
(1) 2a9
(2) 3a¥
(3) 4a§
(4) 5ay

[P.T.O.




74. Nanda ranks 18th from the top in 74,

i

a class. Which of the following
is/are sufficient to find his
position from the bottom?

Statement I : There are 47
students in the class.

Statement II : Kishore who ranks
10th in the same class, has 38th
position from the bottom.

(D
)
3)

4

Statement I alone
Statement II alone

Either Statement I or
Statement 11
Both Statement I and
Statement 11

Asha is the daughter of Kannika. 75,

Shashi, Kannika’s only sister has
two daughters Divyanshi and
Pratiksha but no sons. Shivalik is
the maternal uncle of Divyanshi.
Based on the given information
how many nephews does Shivalik
have?

(1) Data is not sufficient
(2) None

3) 1
4 2

26
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ST & 7YY e H FW A 18dT
Y& gfaa ) F=fef@a 7 &

P T FYUT 3TN & A A9 F
AURT = & o gaiea greml

wUA |: HaT 7 47 fagIndt gl
P |: TFUR S ST FHam H
1047 & X § 3R AT @ 33
ufa 384T 2

(1) % Fu |

(2) % wu= |l

(3) a1 A FHUA | AT FYUA I

(4) &uaT | AR 1l et

3T Hfetspr & gE g1 AR S
FiaeT 1 Tk AT g5 § T al
gl il dur wden § wq
HE g7 g1 gl feeanelr & A=
Riaifore &1 e Faamsit & 3R
R Rarfas & fhda des/AdS
¥4

(1) 3i%s gaed =61 &

(2) w1 o el

(3) 1

4) 2




76. A defective timer that gains 10 76, ua Ffeqol egar S dd 24 9UC

minutes every 24 hours is set at ¥ 10 et 3T & § #F

zero. What would be the correct W e frar orar ¥ afy a9y 145

reading if the timer shows 145 gur R W ¥ ar aedaE g
9

hours? a7 @7

(1) 144 hours (1) 144 gue

(2) 142 hours (2) 142 goe

(3) 143 hours (3) 143 gue

(4) 143 hours, 30 minutes (4) 143 gue, 30 fAAC

77. In the Figure given below, what 77, fawafaf@a smgfa & x 3Ry Hor |

will be the Valqe of sum of the FT = et 3 F4r 2
angles x and y in Degrees? :

(1) 135° < 1) 135°

(2) 120° (2) 120°

3) 110° @) 110°

(4) Cannot be determined (4) uiRa 7 foear ST dedr
27
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78. A river flows along the east-west 78, U A&y X&-ufRa# f&em H ag<ll gl

79.

direction. On a particular day in
the morning. Mohan was seen at a
place ‘A’ located on the northern
side of the river and on the same
evening he was seen at a place ‘B’
located on the southern side of the
river. Following are the comments
made by four of his friends

I. Mohan must have crossed the
river only once
II. Mohan must have crossed the
river four times

I11. Mohan might have crossed the

river five times
IV. Mohan might have crossed it
any number of times

Choose the correct statement(s)
from among the above-

(1) OnlylI
(2) OnlylII
(3) TandIII
(4) Hand1V

In a football match altogether nine
goals were scored. The number of
goals scored by each team is a
prime number. What was the -
margin of victory?

(9
2) 7
3) 3
4 3
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80. X is 47 years old. Y is 6 years 80. XHI I 47 av gl Y, X6

younger than X and 14 years older % oier X 3 Z & 14 a6 |
than Z. Brother of Y is D and he ¢ EE

is 15 years younger to him. What Y & &1$ D § 3R 9§ 389 15
is the age of D? a¥ Bier g1 D @ 3mg F47 g
(1) 9 years (1) 9a¥
(2) 10 years (2) 10 a¥
(3) 11 years ' (3) 11 a¥§
(4) 12 years (4) 12 a¥
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PART - A
Language Proficiency

(Expected Answering Time: 20 Minutes)

Questions 1 — 4: Read the following passage and answer the questions.

Self-directed learning, in its broadest meaning, describes a process in which
individuals take the initiative with or without the help of others, in diagnosing their
learning needs, formulation of learning goals, identifying resources for learning,
choosing and implementing learning strategies and evaluating learning outcomes.
Thus, it is important to attain new knowledge easily and skillfully for the rest of his
or her life.

What is the need for self-directed learning? One reason is that there is convincing
evidence that people, who take the initiative in learning, learn more things and learn
better than people waiting to be taught. The second reason is that self — directed
learning is more in tune with our natural processes of psychological development;
an essential aspect of maturing is developing the ability to take increasing
responsibility of our own lives to become increasingly self-directed. The third
reason is that many of the new developments in education put a heavy
responsibility on the learners to take a good deal of initiative in their own learning.
To meet the challenges in today’s instructive environment, self-directed learning is
most essential.

1. The Synonym of the word ‘diagnosing’ is

(1) Searching
(2) Understanding
(3) Identifying
(4) Analyzing

2. Which word-group best describes self-directed learning?

(1) Active learning
(2) Passive learning
(3) Compulsory learning

(4) Compulsive learning
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. There is need for self-directed learning because

(1) It is less challenging than other methods
(2) It helps people to learn more things and learn better
(3) It is a more cost-effective method of learning

(4) It is a modern method of learning

. In self-directed learning, an individual

(1) Is passive and waits for directions from others
(2) Is helpless and dependent on others’ help

(3) Takes initiative, without an objective in mind

(4) Takes initiative with or without the help of others

Questions 5 — 6: Choose the best meaning of the idiom/proverb given.

. "To keep one’s head"

(1) To be agile and active
(2) To keep calm

(3) To think correctly

(4) To hold one’s head

. "A close shave"

(1) A lucky escape
(2) A clean shave
(3) A well-guarded secret

(4) A narrow escape

Questions 7 — 8: Find out which part of the following sentences has an error.

. It is shameful that hunting 1s still considered sport

A B
by some unscrupulous people _in the civilized world.
C D
(1) A
(2) B
3) C
(4) D
3
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8. Neither the severe earthquake or the subsequent famine could demoralize
A B &
the people of the country.
D
(1) A
(2) B
(3) C
4D

Questions 9 - 10: Listen to these telephone conversations carefully, and select
the best conversation which completes the call made.

9. A: Hello, a fire has broken out at the Mall......
B:

(1) Okay, okay, put two buckets of water on it.......

(2) Do not panic, we’ll be there soon.....

(3) Okay, but what can I do....?? :

(4) Do not worry, many people are on their way.....
10. A: Hello, I’'m Gopal. Could I speak to the Doctor, please?

B: Doctor’s gone out. Can I take a message?

A:Yes,

(1) Tell him I am Gopal who called him

(2) Who are you, may I know, to talk to me like that?

(3) Why should I give you the message ........ aah? ‘
(4) Ask him to call 56564321 for an emergency, please

Questions 11 - 12: Complete the sentences using the best expression from the
choices given:

- My friend invited me to her home to (11) the weekend with her family.
~ I'was happy, but I told her that I’d (12) ask my parents for permission.
1. (1) Spare
(2) Do
(3) Spend
(4) Finish
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12. (1) Have
(2) Have to
(3) Love to
(4) Wish

Questions 13 - 16: Read the following passage and answer the questions.

Tom Sawyer appeared on the pavement with a bucket of whitewash, and a long-
handled brush. He surveyed the fence, and its uninspiring sight took away all
gladness from him, and a deep sadness settled down on his spirit. Thirty yards of
broad fence nine feet high. Life to him seemed hollow, and existence a burden.
Sighing, he dipped his brush and passed it along the topmost plank, repeated the
action, did it again, compared the insignificant bit of whitewashed space with the
far-reaching rest of the unwhitewashed fence, and sat down on a tree-box,
discouraged.

He began to think of the fun he had planned for this day, and his sorrows
multiplied. Soon all the free-boys, his friends, would come, one by one, quietly
tripping along, and narrate all sorts of interesting adventures, and they would enjoy
ridiculing him for having to work — this work !! The very thought of it burnt him
like fire.

At this dark and hopeless moment an inspiration burst on him — nothing less than
a great, magnificent idea.

13. "The very thought of it burnt him like fire."
What was the thought? — choose the best answer.

(1) Meeting his friends

(2) Painting the fence alone
(3) Choosing to work like this
(4) Facing his friends’ ridicule

14. Tom Sawyer’s initial mood on looking at the fence could be described as
(1) 'Morose'
(2) 'Sombre'

(3) 'Serious'

(4) 'Disappointment'
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15. Look at the last two lines:

"At this dark and ......... magnificent idea".
This sudden turn in his thought could be described as

(1) A flash in the pan
(2) . Turn the clock back
(3) A stroke of brilliance

(4) Mind over matter

16. "Far-reaching" here means

(1) A brilliant idea

(2) A very long fence

(3) An action which could be done in future
(4) Something difficult to achieve

Questions: 17 — 18: Read these sentences carefully and find out the part
which has an error in it. ’

17. Each girl in the school was given a bunch of flowers which pleased her

A B C
very much.

D
() A
(2) B
3) C
4) D

18. One of the parents forget to take his boy from the school last evening.
A B & D
(1) A
2) B
3) C
4) D
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Questions: 19 — 20: Read the sentences carefully and choose the word from
the options given which fits the context best.

19. A frog has large webbed feet. It jumps by lifting the front legs and at the same
time the ground with its hind legs.
(1) Pulling
(2) Pushing
(3) Pedaling
(4) Propelling

20. Ceres is a ball of rock and ice 950 Kms in diameter. Its mass is almost one-third
of that of the belt.

(1) Asterisk
(2) Asterik’s
(3) Asteroid

(4) Astronomical
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PART-B
Teaching Aptitude

(Expected Answering Time : 40 Minutes)

21. Confidence in teaching depends on

(1)

(2)
3)
4

The presence of mind of the
teacher

Subject mastery of the teacher
Having command over students

Being a strict disciplinarian

22. Which of the following indicates
student’s thorough understanding of a
concept?

(1

(2)

3)

4)

PP-2/D

Recalling a correct definition of
a concept

Recalling the characteristics of
the concept

Classifying given objects into
examples and non-examples of
the concept

Giving familiar examples of the
concept

21.
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23. Which one of the following would be 23,

the most appropriate action of a
teacher whose focus is more on
learning than teaching?

(1) Encourage self study
(2) Provide answers to student
questions

(3) Prepare students for
examination

(4) Assess and monitor student
learning

24. Which of the following techniques is 24,

least helpful to engage students in
meaningful learning?

(1) Asking students to apply the
learnt concepts to a problem

(2) Asking students to rephrase a
concept or idea in different
terms

(3) Asking questions that require
students to collect bits of
information from their notes

(4) Asking questions that require
students to go beyond the given
information

PP-2/D
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25. How would you promote inclusion of
special children in the classroom?

(1

(2)

3)
4

Responding to the children’s
needs

Group them in a separate
section

Have a different curriculum

Assign separate teachers to
teach

26. A class 6" student has always been
sincere in doing her homework. But
she has not completed her homework
yesterday. What will be your response
as a teacher?

(1)

)

€)

4

Say you did not expect this
from her

Show your unhappiness over
this neglect on her part

Try to know the reason for it

Ignore it

27. If you want to p;erform an activity in

the class, which one do you consider

least from among the following?

(1)
(2)
3)
4

PP-2/D

Availability of resources
Support from the management
Availability of space
Availability of time
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28. Which of the following reflects 28.

Active Learning?

(1) A child memorises
multiplication tables

(2) A child looks into the textbook
and copies in the notebook

(3) A child draws and measures the

sides of a triangle and sees
relationship

(4) A child sees the work on the
board and copies accordingly

29. In order to prevent -classroom 29,
disciplinary problems in the class,
which of the following measures
should a teacher take?

1. Prepare comprehensive
instructional plans
ii. Devise sound management policies
iii. Be lenient in grading
iv. Take firm action against
mischievous students
(1) 1andii
(2) 1iandiii
(3) iiandiv
(4) iiiandiv
11
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30. What is your advice to the parents of
a differently abled child?

(1) Send the child to a special
school
(2)

Appoint a full time tutor at
home

Send the child to an inclusive
school

3)

(4) Send the child to an integrated

school

31. Which of the following is the most
appropriate indicator of a teacher’s
integrity?

(1) Iknow that I am the most
honest person

(2) My friends tell me that I am an
honest person

(3) I do my work with sincerity and
pride
(4) Inever accept gifts for my

work

32. Which of the following type of
teaching is considered authoritarian?

(1) Teacher centred
(2) Learner centred
(3) Activity based
(4) Experiential

12

PP-2/D

30.

3,

32.

AT FT H eI oEl & fHeasw
& T 39T AT FSATT BT ?
(1) =3 & A facarera # et

(2) W H QoIS Rets gea HY
(3) I & AR Qegre & a

(4) = & AR Taeged 7 &

eg9s faser & for Aafefea J
q Fia-ar T98 39FFA &7

(1) # Serar § &, # |@ed $AEeR
O g1

2) MATFFAE F A =
$ACR eafdd gl

(3) # 39 F F fAveEs wd
G & FY HA gl

(4) # 39 FF F AU A 3ER
TR AL T g

frafaf@a & ¥ sia-ar Refor
HTAFRATE AT ST & ?
(1) fRvers Hfea

(2) fagardf &fea

(3) wfafafer smaRa

(4) SigiaicaEn




33.

34.

3s.

The most basic skill needed for
developing interpersonal skills is:

(1)
(2)
(3)
4

Presentation skill

Problem solving skill
Communication skill

Decision making skill

As a teacher, which of the following

would you adopt to optimise learning
in your class?

(1) Tell students to work

individually and not in groups

Entrust students with
challenging work

2)

3)

Enforce taking down notes

Behave as a friend of students

4)

For effective teaching-learning, we 35,

need to understand the developmental
stage of the child because-

a) Learning is affected by
developmental stage

the

b) Learning of some skills needed
before learning other skills

¢) Child’s personality differs in each
developmental stage

d) Learning can be assessed according
to developmental stages

aand b
candd
aandd
bandc

(M
2)
3)
4

13
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36. Which of the following is a feature of 3¢,

a creative child in your class?
(1) Always does well in
exams
(2) Has many friends
(3) Asks unusual questions

(4) Is active always

37. Who is the right person to be a 37.

Kindergarten teacher?

(1) Person with good academic
background

(2) Person who has command over
- children

(3) Person who loves to be with
children

(4) Person who can teach whatever
he/she knows

38. The Regulatory Body of ‘Special 38.

Education’ programmes is-

(1) Special Education Council of
India
(2) Rehabilitation Council of India

(3) National Council for Teac;her
Education

(4) National Institute of Mental
: Health

14
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39. The most essential factor in retaining
the teacher in the teaching profession
is:

(1) Good infrastructure in the

institution

(2) Conducive teaching
environment

(3) Welfare policies of the
institution

(4) Good library with ICT facilities

40. When Sheela is sick and absent for
class, her friends make it a point to
visit her and give class notes. Sheela
has-

(1) Poor emotional adjustment
(2) Good emotional adjustment

(3) Poor social adjustment

(4) Good social adjustment

41. Which of the following is NOT a form
of intrapersonal communication?

(1) Meditation

(2) Negotiation
(3) Day dreaming
(4) Arguing

15
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42. RTE came into force from 1% April

2010 to cover-

(1) Students from KG to PG

2)
3)

Children between 6 to 14 years

Students from nursery to XII
standard

(4) All students of all stages of

School Education

43. Which of the following is NOT

related to teaching skills?

(1

Eliciting questions from
students

)

Promoting group work

3)
(4)

Preparing lesson plans

Filling up the attendance
register

44. What kind of teacher support do the

goal-oriented students require the
least for learning?

(1) Monitoring of learning
(2)

3)

Feedback on learning

Clarification of learning
outcomes

4

Activeness in learning

16
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45. All round development of a child is 45.

best served through-

(1) Lectures on child development
(2) Formal Education
(3) Informal Education

(4) Non formal Education

46. Which of the following is NOT 46.

consistent with the concept of in-
depth learning?

(1
(2)
3)

Memorising subject matter
Critical thinking

Application of subject
knowledge

4

Constructing meaning

47. Which of the following is a 47.

recommendation of NCF 2005?

(1
(2)
3)
4

Syllabus based text books
Rigid time schedule of school
Unit-based examinations

Mother tongue as the medium
of instruction

48. Which of the following is NOT a 48.

feature of Child Centered Learning?
(1) Discovery learning

(2) Rote learning

(3) Joyful learning

(4) Active learning

17
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e & AT fqehrE & Fi-A1 qgIh
g?

(1) dTel f&epr o AT &3
(2) 3ioaRe R

(3) 3m=iqETRE e

(4) IR-gRGRe e

Afaf@a & 9 Sia-ar 3791, /IS
3T F Fora 7dt §?

(1) TavaaEg &1 TR FHE
(2) 3erEAcHS Kide
(3) TawT A & ] FIE

(4) 33T F1 AT FE

Ffafda & ¥ Fa-ar B[eiRe
(TA.E.T% 2005) NCF 2005 &1 3
g7

(1) UToT=AT 3T ITeaqeds

(2) facamem & HoR FHEIERTT

(3) ew muRd qded

(4) TRvefor ST FTEIH ATTAT

farafaf@a A @ Sid-a1 a1 shigd
3T Fr TFAvar @ 87

(1) @ e

(2) Yee AHfEErH

(3) Y- # A

(4) @i R

[P.T.O.




49. Ifyou become a teacher of class VIof 49, afg 3mq Saex #Adicy fGegre™a #
Jawahar Navodaya Vidyalaya, which

language will you use in the class?

(1) Use only regional language

(2) Use more English than regional

language
(3) Use only English

(4) Move gradually from regional
language to English

50. Social Development means:

(1) To share each other’s joys and
SOITOWS

(2) Social maturity

(3) To work together as member of

a group

(4) All of these

PP-2/D
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e VI & & eI §99d & ar 39
HiT-dT HATT T TAIT HLEIM?

(1) T&F e ST &1 9T 39
(2) &I AT & Seo H iR
3 FT 3TIRT HET
(3) % ST & 3UIRT HET
(4) &R ST @ IS IR

S :

. S Qe &1 3T 8§

(1) TF g F Q- g@ A WY e

(2) Hmﬁa?qﬁqa——cm

(3) TE F TaEd F T 7 I
AT

(4) 58 ¥ ¥




Reasoning Ability

PART-C

(Expected Answering Time : 60 Minutes)

51. Of the given four figures, three are

similar in a certain way and form a

group, while one figure is not like the

other three. Which one of the figures

does NOT belong to this group?

W s o
@ |0, 2
(3) OADf3
@ g Y

52. In the addition given each letter
stands for a different digit. Then B

stands for:

PP-2/D

A B C
+ A B C

+ A B C

B B B
(1) 5
(2) 4
3) 6
(4) 0

19

5.

52,

ATIT-H
arfehe &Tdar
(3nf&@a 39X @AY : 60 fAae)

& Rl TR IRl A @ e piaar
Ry Y §7 & A9 @ § 3R ™
HeleT GHg #1 AT A &, St
T I 3T A H RE A&
gTH U FlA-H Hpla Fog 9 Ffed
el 87

M | &
@ |0, 2
(3) -OAD':’
@ |5 Y

sg Sis & R v g% gor & fau
HRT-3e9T 37 eI g1 a9 B &
T Fia-dr gear AuiRa 82

A B C

+ A B C

+ABC

B B B
1 3
(2) 4
(3) 6
4) 0

[P.T.O.




53. Find the next number in the series. 53: :s[{gan H 379TeN TEIT §d17|

2o SR - -2 23 gk i3 2o -7
(1) 30 (1) 30
2) 32 2) 32
(3) 33 (3) 33
4) 34 (4) 34
54. Find the ODD one out. 54, SH F Y-
(1) 577 (1) =5
(2) 883 (2) 883
(3) 649 (3) 649
(4) 395 (4) 395
55. If 1%t October is Monday, then 1* 55, Ifg 1 39} AHaR §, af 1 ddsR
November will be i gam-
(1) Thursday (1) &R
(2) Friday (2) YA
(3) Sunday (3) T@Ear
(4) Monday (4) "HIR
56. Complete the series: 56. Wa;‘rq\o‘r &L
25. 20.--36 30, 49— - 064, 2520 36 3049 - - . 64
56 56
(1) 7 )=+
(2) 42 (2) 42
(3) 47 (3) 47
(4) 54 (4) 54
20
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Bl

58.

Which of the assumption(s) is/are 57,

implicit in the statement?

Statement:

Old age pension should be given to
all Indians who are above 60 years of
age.

Assumptions:
I. There are elders who are above 60

years in India.

I1. Elders who are above 60 years of
age are in need of financial assistance.
(1) Assumption I is implicit

(2) Assumption II is implicit

(3) Neither I nor II is implicit

(4) BothIand II are implicit

Which one of the following can be 58.

connected to the words?
Road, Rule, Avoid, Surgery

(1) Bypass
(2) Lane
(3) Heart
(4) Cosmetic

21
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S FYA H FAH q HlA-41 YROMT
affea 88 ?

.

THET AR F STt 37 60 a¥
¥ IW §, oo deurasyl R A=
g e

¢RUTTT:

| AR & O gey g S 60 a¥ &
3R &

Il 60 a¥ # I F FR & geui A
3% ggrar 1 3madsdar gl
(1) ©ROT | ¥I5¢ g

(2) 9RO |l TTSC

(3) & oo | 3R T @ TS §
(4) 13RIl g&t T g

fAf@a el 7 & Fas @y 3
el F Y Y TATRT T Thd 87

(1) ST
(2) =t
3) &3
4) FEATEH

[P.T.O.




59. Find the missing number in the 59. faw=faf@a s@ar & a7 ge aear

following series. Sy
2,9, 28, 65,126, 217 344 2, 9, 28, 65, 126, 217, 344,
(1) 46 (1) 462
(2) 513 (2) 513
(3) 569 (3) 569
(4) 661 (4) 661
60. What is the ODD one? 60. HIFA-GT SHT &2
(1) Graph (1) @fas
(2) Figure (2) IHfa
(3) Questionnaire (3) 9RATder
(4) Diagram (4) 3@
61. As Glove : Hand, so is: 61. 31§ &I ¢ BIY 3a:
(1) Pocket : Chest (1) S : BIdr
(2) Tie: Neck (2) T : A
(3) Lace: Sole (3) WIET : Sd FT doer
(4) Socks : Feet 4) A R
62. What comes next? 62. 3T& oI FIT HTTIM?
D-23, F21, B-19; 317, % D-23, - F-21, H-19, J-17,
(1) K-18 (1) K-18
(2) M-18 (2) M-18
(3) 0-21 (3) 0-21
(4) L-15 (4) L-15
22
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63. From among the given four g3,

alternatives, which one will replace
the question mark in the figure below?

)

-
-

2

(1

(2)

3)

4)

64. In a certain code, ‘289" means ‘read g4,
from paper’, ‘276’ means ‘Tea from
field’ and ‘85 means ‘wall paper’.
Which of the following is the code for
‘Paper’?

(1 2
(2) 6
3) 8
4 9

23
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fafaf@d i i IR Qehodl § &
F-ar 3l get e & wWE |
3Teefr?

: 4 : ?
)
(2)
3)
(4)

Rl AT Heha oTeT H 289 FT 3
& ‘read from paper ‘276 &1 3 §
‘Tea from field’, Td ‘85’ &r 37Y ‘wall
paper gl 39H & Hia-ar Hahd ‘Paper
¥ faT &2

(1) 2
2) 6
(3) 8
4) -9

[P.T.O.




65. Passage: There are four friends A, B, g5, 3esae: A, B, C, D OR f&7 g1 gaid

66.

C, D. One of them is a student of
Biology and plays football and basket
ball. A and B study Chemistry. A

Table tennis. Both the

plays
Chemistry students play volley ball. D
is the student of Physics. One
Chemistry student also plays cricket.
The Physics student plays Volley Ball
and Carrom. All the friends play two
games and study one subject each.
Who plays Table tennis and study

Chemistry?

(1) A
2) B
3) C
4) D

If the milk to water ratio in a mixture
is 2 : 3, what is the percentage of milk
in the mixture?

(1) 40
2) 42
(3) 45
4) 38

24
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q U Shafaas & faearedt § 3R
PedTe AR aehedidl Werdm g1 A 3R
B IIATIART & eI aa &1 A
CTeelAH Woldl §1 WA &
et R ot @ed #1 D
ifashr &1 fagardi g1 A &
e Rzt e ofr Qe 31 s
F1 R ardate 3R ARE e
) i BT o A9 Qe £ IR W
NS T IV FT HEAIF FAT ¢l W4T
FiA § S Toerclw Taar g IR
AT 1 o 3reTTeT HLar &7

(1
2)
3)
4

0 ST g Rt o s [N =

afe el 40T A gU Ug Trer @ AT
@ AU 2 1 3 F, o o A gy
T 3T AT g 2

(1) 40

(2) 42

(3) 45

4) 38




67.

68.

69.

Amit is the son of Krishna. Sushma,
Krishna’s sister, has a son Devendra
and daughter Pankaja. Shivaraj is
maternal uncle of Devendra. How is
Amit related to Devendra?

(1) Nephew
(2) Uncle

(3) Brother
(4) Cousin

Find ODD one out from the
following.

(1) Train
(2) Car
(3) Cart
(4) Truck

X and Y are brothers. C and D are
sisters. X’s son is D’s brother. How 1s
Y related to C?

(1) Uncle
(2) Grand Father
(3) Father
(4) Mother

25
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67.

68.

69.

AT oo HT FeT gl FIOT A T8
AT &M deT &dg § 3R 9 g ©l
¢de & AT Rars g1 AfAd & dag
& @Iy g1 Rear g ?

(1) &rar
(2) &=
(3) W18
(4) FAT &S

Pria@d # ¥ AT & -

(1) Yefamsy
(2) =X
(3) doremsy
(4) =

X 3R Y s$ &1 C 3Rk D sga &1 X
FITIDFFASEI Y & TY C &
&y gard|
(1) =T
(2) @er
(3) far

o

@ A

[P.T.O.




70.

7z &

72.

Six friends are sitting around a
rectangular dining table in the
following order.

B is sitting opposite to D. E is sitting
opposite to C. D is on left of A. A is
on the extreme left end of the table
facing F.

Who is sitting on the right hand side
of A?

(1) B

(2) E

3) C

4) F

A person drives 8 km north, turns left
and drives 5 km then turns right and
covers another 4 km. He then turns
right and drives 5 km. How far is he

from the point of starting his journey?

(1) 12km
(2) 22km
(3) 18km
(4) 13 km

Complete the series:

4 1636 64
(1) 81
2) 121
(3) 100
(4) 144
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70.

71

72.

o T & IR T f AT &
TRt 3R S T

B,D ¥ u#Ax daT &l E, C & 4@Fa
JoT 81 D, A H TW gl A AT &
THEH 3d A 9t 3R § o 78 F
& AT gl

A & gifgelr 3R @l T 872

(1) B
2) E
()¢
4) F

U gfFd 3 feur 7 R 8 el
S FelTell &, T qTT R% FHSH 5
4 TR ST &1 39 916 ag U giv
NE A5 5 el rar 81 39 a7
3o IR fog @ fohcell g W &7
(1) 12 f&er
(2) 22 faY
(3) 18 falr
(4) 13 Rl

ST &l IO &

4 16 36,64, .
(1) 81

2) 121

(3) 100

(4) 144




Answer the questions 73 and 74 A Qe T gEer ¥ TUR 9T T2

based on the following information. Fear 73 3 74 &7 39X 49T HL
| The diagram below represents three A & 9T AR AT FALST F Th
| segments of society overlapping with gy 4 fama gelt @l gerer gl
| each other.
‘ Triangle — College students freRIoT - lerst & BT

Circle — Artist gd - hell

Square — Dancers I - Add

73. Which number represents artists who 73, &8y T&IT 39 FABRT & ARG

are neither students nor dancers? L Ao A A ATH?
(1) 1 (1) 1
(2) 2 (2) 2
3) 3 3) 3
4 7 4) 7
74. Which number represents college 74, HIAHY TEAT HictsT HI SHET HI TG
students who are artists but not A &, S FAPR§ R AdH AeT
dancers? ¥
(1) 2 (1) 2
(2) 4 2) 4
3) 6 (3) 6
4 7 “4) 7
27
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75. Find the ODD one out. 75, SHT & gﬁf

(1) Makar Sankranti (1) #FHT FhIlcd
(2) Pongal (2) el
(3) Bihu 3) %
(4) Onam (4) 3oTH

76. At an intra-school knockout table 76, #AfRem3it T el T F AT
tennis tournament for girls” singles, AlF 33e o9d ofag wfaafar &
there are 100 entries. How many 100 wfafeat 3mir & faoar &
matches are to be organised to Sl ¥ BT s fw st
determine the champion? _ e g _
(1) 50 (1) 50
(2) 51 (2) 51
(3} 99 3) 99
(4) 100 (4) 100

77. Complete the series (Numerical i al-@w & q\u‘r FL (et v
values of the numbers are not TTITcHAS® Al Agcaqol gl o)l
significant)

@D @@ @@ —@ D@D @D =@
(1) 7 (1 7
(2) 8 | (2)
3) 8@ 3)
(4) 9@ (4)

o

®OOE

o
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78. Which number occupies the position

of *?’

(D (s7)
P T
OO OO ==t

A D

) (24)
(1) 6
2) 7
3) 8
“4) 9

/////

79. How many times in a day do the hour
hand and the minute hand of a clock
become perpendicular to each other?

(1) 12
) 24
(3) 44
(4) 48

80. Which one of the following is the
mirror image of ‘PRFSSON’?

(1 VOéeHsq

2 NOSSFA1

3) NOee1Rq
4 NOeZeFsId

PP-2/D
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@ Hear e
(1) 6
2) 7
3) 8
“4) 9

T & forcelt IR =3t 7 5 3R

fAee &I g3 U gEY W o¥ad
gsr & ?
(1) 12
(2) 24
(3) 44
(4) 48

&1 guur gfafss g ?
1 OeerdAaqd

2 NOSSFA1

3) NOee1R4
4 NOeeFsaAd

[P.T.O.

78. YeAaS e (?) & TUH W Fid-

. f=faf@a 7 & #ia-ar 'PRFSSON’




